Quiz 4c¢ 25 Pts TR Fall 2005 Name: KG/%—
SHOW WORK TO RECEIVE CREDIT. Molar Masses: H = 1.008, K=39.10, C=12.01, N=14.01, Na=2299, 0=
16.00, S = 32.07

1. (6 Pts) Consider the balanced equation for the combustion of propane, CsHg
CsHs(g) + 502(g) — 3COg)+ 4H00) . + !
Kooj /0 VZ 7/"““‘i CDL é____ 'b‘cl‘( &, F!3£wi-

If propane reacts with oxygen as above. Which reactant and how much (in grams) remains in excess from a mixture
containing 5.00 g of C;Hg and 10.0 gof O,? ., €D i
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2. (5 Pts) A solution of methanol (CH;0OH) in water has a concentration of 0.200 M. What mass of methanol, in grams,
is present in 0.150 liters of this solution?
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3. (5 Pts) Aluminum metal dissolved in hydrochloric acid as follows

2Al(s) + 6HCl(ag) — 2AICk(aq) + 3Ha(g)
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What is the minimum volume of 6.0 M HCl(aq) needed to completely dissolve 3.20 g of aluminum in this reaction?
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4. (4 Pts) Complete and balance the equation for the following acid-base reactions.
a. Ca(OH)(aq) + ) HCl(ag) — M O + Ca.

5.(5Pts) 55.0 mL ofthe 0.150 M aqueous NaOH is titrated against sulfuric acid, H,SOy4, according to the
equation

2NaOH(arq) + HZ/SO4(aq) — N32804(aq) + 2H20(l)
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If the volume of sulfuric acid solution required to neutralize the NaOH is 48.62 mL, what is its
concentration? . /1/ ) # H
- - NaPH 2ol 1,80
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Quiz 4d 25 Pts TR Fall 2005 Name: <
SHOW WORK TO RECEIVE CREDIT. Molar MasSes: H= 1.008, K=39.10, C=12.01, N=14.01, Na=22.99,0=
16.00, S =32.07

1. (6 Pts) Consider the balanced equation for the combustion of propane, C;Hs
CsHg(g) + 504(g) — 3COx(g) + 4H20(D
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If propane reacts with oxygen as above. Which reactant and how much (in grams) remains in excess from a mixture
containing 6.00 g of C;Hg and 10.0 g of O,?
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2. (5 Pts) A solution of methanol (CH;OH) in water has a concentration of 0.200 M. What mass of methanol n gra‘ﬁ?”"w

is present in 0 250 liters of this solution?
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3. (5 Pts) Aluminum metal dissolved in hydrochloric acid as follows

2AI(s) + 6HCl(ag) — 2AICk(ag) + 3Hx(g)
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What is the mlmmum volume of 6.0 M HCl(aq) needed to completely d1@hz¢6§ of aluminum in this reaction?
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4. (4 Pts) Complete and balance the equation for the following acid-base reactions.
a  BaOHyap+ JHBra— Qfy o) + Bobra
b. 3 Ba(OH)(aq) + ) HsPOs(aq) — é H 2»0 t B ! (P 0 ‘{) 2

5.(5 Pts) 75.0 mL of'the 0.150 M aqueous NaOH is titrated against sulfuric acid, H,SOq, according to the
equation

2NaOH(aq) +  HzSOu4(aq) — NaxSOs(aq) + 2H,0())
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If the volume of sulfuric acid solution required to neutralize the NaOH is 68.62 mL, what is its

concentration? PSR
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